
VEX GO Classroom Cart254-8380-750



Parts List
2x  Upright Bracket, Right
254-8380-003-R

2x  Upright Bracket, Left 
254-8380-004-L

6x  Rail
254-8380-005

4x  Caster Wheel
CG291-02-104B

16x #10-32 Keps Nut
NKP1032-ZC

28x #08-32 x 0.30 Screw, Black
SFP0832-0312ZB

16x #10-32 x 0.375 Screw
SPP1032-0375ZC

1x Base
254-8380-001

1x Top
254-8380-002



1

1x Top

1x Upright Bracket, Left

2x #08-32 x 0.30 Screw, Black

3



2

1x Upright Bracket, Right

2x #08-32 x 0.30 Screw, Black



3

1x Upright Bracket, Left

2x #08-32 x 0.30 Screw, Black

5



4

1x Upright Bracket, Right

2x #08-32 x 0.30 Screw, Black



5
8x #08-32 x 0.30 Screw, Black

1x Base

7



6

4x Caster Wheel

16x #10-32 x 0.375 Screw

16x #10-32 Keps-Nut



7

6x #08-32 x 0.30 Screw, Black

3x Rail

9



8

6x #08-32 x 0.30 Screw, Black

3x Rail



VEX GO Classroom Cart
254-8380-750

Custom manufactured in China for Innovation First Trading SARL. Distributed in the U.S.A, Mexico, Ca-
ribbean, Central & South America by VEX Robotics, Inc., 6725 W. FM 1570, Greenville, TX  75402, U.S.A. 
Distributed in China by Innovation First International (Shenzhen), Ltd., Suite 1906, Excellence Tower, 98 
Fuhua Yi Road, Futian, Shenzhen, Guangdong, China 518048. Distributed in other regions by Innovation 
First Trading SARL, Z.A.E. Wolser G, 315, 3434 – Dudelange, Luxembourg +352 27 86 04 87. Distributed 
in Canada by /  Distribuè au Canada par / Innovation First Trading, LLC, 6725 W. FM 1570, Greenville, TX  
75402, U.S.A. ©2022 VEX Robotics, Inc. All rights reserved. Tous droits réservés.


